AR DERIBEO R 2 —IL

HIZH| EH | & | BE AT 12— )LAR
Eﬂ]— . 1=] N _ =
1 T e 1000 YRt R — AER
7 E
e
EIJEIEE 9:00 HSRAR
BT E 9:30 EHRERE
HEE
;;E 10:30 |HAEEROEY FEEZH2 (RHAT hRARME
4 PN BT & 11:00 TtREEEERREXESFERZSHBS
ME | 1300 [ BICTOI LT L RoREEREE (BT
BEE | 1800 T e
5 7K
SLE_{ 1000 BT NERA LR
6 & SE
;{ﬁfﬁ 14:00 T rhsp A St
7 &
B +
9 5 HE | 1300 BB el naane e a2 (B
0 | 5 |LEE | 1030 IhEABABHEESES BES GLED)
#EE | 13:30 AHEERAZER
BT 9:00 HEEP2EEREHEGETE RS ({ZKHE)
#HEE | 13:00 ERNPIRESKES
-I 1 9{ BTE 1300 \4:% jt'fﬁlui‘lﬂlzg@fﬁ%%*ﬁ;)\ﬁuﬁg%ﬂ(d\*%?ﬁ
#eE | 14.00 ERBERESE
BT & 15:00 BERNE%ZES - BREEE (Zt0)
#eE | 15:30 HERIESHK=S
12 X |ElErE | 1330 BE LR EES R
I ” me | 830 [MBITOILITELEs5aFRES (Rak)
9:30 RS
14 & HEE 14:00 BEN/NRFERABERE
15 + HEER 10:00 BBk X AR— v/ D EMFEF
16 E
17 B
18 N HER EFEHFH R RFEH
BE | 1300 [BeRirBninsas. LEaREREAE LR
19 7k e 13:00 ERNNFPFERREESMES
H 17:45 ENBEERHRERS
1430 BAZERES
20 X #HeK | 1600 BHREEHERMBEKRES
17-30 BRERSD
#Hak | 1400 ﬁlu’\ =ih - X EE TS ES
21 & #Hek | 14:30 M eEFRELEEE BB RRE R ES
BT & 15:30 AMXFEERSTEHRES
77 T
23 5
24 B 2T & 14:00 élumﬂmﬁ/‘\ﬁi Epiﬂﬁéf’:\ ({EXNZHT)
. 13.00 5
25 K| HBR 775 ng%ﬁzé e




= [ 1000 EHBREZES
26 A | #FEBE 500 BEPThEL 2B GE)
77 X | ZEE | 1530 | BaChEt U E—EBRhE2R2 BIH)
28 %
930 bAEL  ETGDhEER
29 + | BBE 500 B =Sk v o R—>
30 g




